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PROGRAMMING IN JAVA

fruife e . 3 W) [3tftremam 37 : 60
Time allowed : 3 Hours] [Maximum Marks : 60
2. () FEA-TFEIATGEAC AT HE |

Note : There are THREE sections in the paper A, B and C.

(i) QAT GG F G 10 97T F I T | T 7T Qb 3HF F1 8 T
@t 10 571 TGAE TFR F T & 8 |

Answer all the 10 parts of the question No. 1 in Section A. Each part carries
one mark and all 10 parts have objective type questions.

i) @FHT @ F 8 T T @ HE 6 oI F I @I | ¥AF ¥¥ 3 b 18 @
37HT 5 A / 50 W=l 7 37 Sfore |

Answer any 6 questions out of the 8 questions in Section B. Each question
carries 3 marks and to be answered within 5 lines / 50 words.

Giv) QT F 6 T F @ fET 4 XN & IR AT | IAF T¥7 8 3F 18 0@
37%7 15 189 / 150 Y1&g1 5 I 174 /|

Answer any 4 questions out of the 6 questions in Section C. Each quecm}n
carries 8 marks and to be answered within 15 lines / 150 words.

() NedE QI & G 91 H) FHAR TF G4 F BT |
Solve all the questions of a section consecutively together.
(i) 21 ST A 31 g7 B R 7 37 A & A 2 |
Only English version is valid in case of difference in both the languages.
FRH -1

Section — A

L () @ % & Foaed w8 9o b gr Al 2 7

(a) JAVAC (by JVM
(¢) JDK (d) JRE
Which component is used to execute the byte code ?
(a) JAVAC (b) JVM

B (c) JDK (d) JRE

(10f 4) P.T.O.



1T50032
(ii)

(iii)

(iv)

(v)

(vi)

(vii)

(2 of 4) 7331~
Fraferfiaa § @ == @t sran 6t fagar =& 2 2
(a) Class (b) Encapsulation
(c) Pointer (d) Inheritance
Which one of the following is not a java feature ?
(a) Class (b) Encapsulation
(¢) Pointer (d) Inheritance
A1 Eid G136 &1 R F g g ?
(a) .txt (b) .java
(c) .class (d) .byte
What is the extension of java source file ?
(a) .xt (b) .java
(¢) .class (d) .byte
frefafiad § @ @i @ stran d =ae e 2 7
(a) break (b) for
(c) continue (d) if
Which of the following is selection statement in java ?
(a) break (b) for
(¢c) continue (d) if
aT$e S2rergd & # HimT (Range) Bt 2 2
(a) -128%®127 (b) 256255
(c) 327684 32767 (d) I9tied d & &S T
What is the range of byte datatype ?
(a) -12810127 (b) -2561t0255
(c) —32768 to 32767 (d) None of these
STa1 § object @1 &4 o feru e @1 i wm a2 ?
(a) class (b) new
(c) this (d) create
Which keyword is used to create an object in java ?
(a) class (b) new
(c) this (d) create
Ay SETAIET (method overloading) % g &H #t faea sEifRa ad 2 7
(a) Encapsulation (b) Inheritance
(¢) Polymorphism (d) Class
Which feature is implemented by method overloading ?
(a) Encapsulation (b) Inheritance

(¢) Polymorphism (d) Class
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(viii) Frferfaa 3 @ #19 3 Hia &1 IR FATE B §Tee HE H Ea R 7
(a) this (b) new
(¢) extends (d) super
Which of the following keyword is used to inherit a class ?
(a) this (b) new
(¢) extends (d) super

(ix) Freffiad § & #7 a1 ¥ quft 7 JTa BT )RR w2 7
(a) lang (b) applet
(c) java (d) il
Which of the following package stores all the standard java classes ?
(a) lang (b) applet
(c) java (d) util

(x) Sl | exceptions #1 '3 ?
(a) compile time error (b) runtime error
(c) syntax error (d) I H & HIE @
What are the exceptions in java ?
(a) compile time error (b) runtime error
(c) syntax error (d) None of these

[ — &t
Section - B

). e sifraze sfim & e ferfE |
Write the benefits of object oriented programming.

3. TE EN a1 i R 7

Why is java platforms an Independent language ?

4 ¥ A AR weieE ST wHEE |

Explain the difference between break and continue statements.

5. mﬁmﬁmmaﬁml

Explain the operator precedence with example.

6. 7T I Syntax o WY FHHATE |
Explain java class with syntax.

7. 32T&0 % "1Y Runtime exceptions | gHETE |
Explain Runtime exceptions with example.

7331

(1x10)

3)

3)

3)

3)

3)

3)
P.T.0.
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8. wrar # Aye sawEfEn & v S ansEd |

Explain the use of method overriding in java. (3)

9. a1 U9y (packages) # & HH aTet fafi= war % Access Protection ! THTEY |

Explain different types of access protection used in java packages. (3)
e — Ht
Section - C
10. Ffedeae s wnfim 6t geg faowarsit i wwgns |
Explain the special features of object oriented programming. (8)

11. e # fafi= yn & o9 Rz &1 3fud Syntax #1 g@mer @ augnsd |

Explain different types of loop statements with proper syntax in java. (8)

12. st %1 941 Sid gu A # fafafaa aoft 6 3e= @ & g fafeo

Write a java program to generate the following series using constructor :

0,1,1,2,3,5, ... upto 20 terms (8)
13. agEata gefes & fafi= wai @t 9wz |
Explain different forms of multilevel inheritance. (8)

14. IerE i gerE § A 8 Y o iy s & was fafeu |
Write the process for defining package in java with the help of example. (8)

15. SmEr# exception handling &1 faftr &1 wwsmsa |

Explain the exception handling mechanism in java. (8)




